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SOLVING EQUATIONS Find the real-number solutions of the equation.

68. 13 — 3% = 203 — 6% = 70.3x + 15x2 =72 =0
7.5 +27=0 72.° + 207 —x =2 @+ 77 —8x—56=0
@) 2* — 26> +72=0  75.3x — 243 = 76.5° + 32— 2r— 6=0
77.8° —1=0 78. 13 + 8x% = —16x 79. 5% —5x2+5x—25=0
80. nt+3 =6’ +6x 8L+ —x=1 82. 4t + 200% = —25

83. — 0% =16 84. 31 = 81x* 85.2r — 120° = —1l6x

EQUATIONS IN STANDARD FORM Use the quadratic formula to solve
the equation.

1707 =5y — 14=0 @2 +3x-2=0 @\ —2x—4=0

2022+ 10x+22=0 @D’ +6x+58=0 —x2+7x—19=0
23. 52 +3x—1=0 24.3x — 1lx —4=0 25. 2% +x+1=0
26.6p° —8p +3=0 27. 747 +2q+9=0 288 +4r+5=0

29. —4t2—9r—3=0 30. 91 — 12u+85=0 3. 10V + 8 —1=0




